APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title:				Improvements Storm Sewer In		
city of	Contractor:	Towns the contract of the		/ OL THICH	Storm Sewer in	ilprovenien	
Ankeny				saada Driva	Suite G, Grime	n IA E0114	<u> </u>
bringing it all together							
					ance Project (
			550.3650.4210; 96	3.3963.4210			10; 963.4210
	Vendor Proje		10 K 10 K	- 0047	PO	-	0.107
	Original Con	itract Date:	June 8	5, 2017	Vendor	#	2407
Date of Council Meeting	12/18/20	017			PAYMENT RE	QUEST#	4
	PAYN	IENT PERIO	D: From:	10/30/17	throug	h:1	2/03/17
Contract Summary							
Original Contract Amount:		\$	109,316.00				
Net change by Change Orders:		\$	7,350.00	•			
Contract Amount to Date: (line 1 ±	2)	and the same of th		\$	116,666.00		
Total completed and stored to da	te:	\$	101,778.53				
	oleted Work:	\$	-	9			
Total Earned less Retainage:	pieted Work.	Ψ		\$	101,778.53		
Less previous applications for pa	vment:		,	\$	86,302.56		
SUBTOTAL	yment.		Ä	Ψ	- 00,002.00	\$	15,475.97
OTHER CHARGES (Please attach a	an itemized list)				-	\$	
CURRENT PAYMENT DUE					=	\$	15,475.97
Balance to finish, including retain	age:			\$	14,887.47		
Contract Time Remaining (If applic	able)	-					
The undersigned Contractor certifies that to the accordance with the Contract Documents, that a received from the Owner, and that current paym	all the amounts have	been paid by the C	ormation and belief the contractor for work for	e work covered b which previous (y this Application for F Certificate(s) for Paym	Payment has beent were issued	en completed in and payments
Construction Contractor Approva	firm Name	NA		_			
Signature						ate	
Engineer/Consultant Approval:	Civil Design A	dvantage					
	4	Johna a.	Taggola			12/11/17	
Signature	00	1	1			ate	
City of Ankeny Staff Approval						12-11-1	7
8ignature 8					- C	ate	1
Submit to:							100
Email:		F	Phone:		Fax: _		

Date Printed: 12/11/2017

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

Date	_	Amount		# 51	Date	Amount
8/21/2017	\$	33,339.29				
10/16/2017	\$	37,998.80	14/	52		
11/20/2017	\$	14,964.47	cw'	56		
-12/18/2017	\$	15,475.97	-0.	54		
			1708	55		
			100	56		
				57		
				58		
			15	59		
			2400	⁵⁰ —		
			1.77%	31		
				52		-1
				33		
	to the			54		
				$\frac{35}{100}$ —		
				⁶⁶ —		
			10.00	57		
				⁸⁸ —		
				59		
			11.2	70		
				71		
				⁷² —		
			· II	73		
			0.0	74	awa	
				⁷⁵		
				⁷⁶ —		
				⁷⁷		
				⁷⁸		
			1.0	79		
			10.33	30		
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	31		
				32		
				33		
			1 27	³⁴ —		
			- The Control of the	35		
			1	36		
			10.00	38		
			163			
			255	90		
				1		
				92		
				93		
		-		94		
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	95		
			223	96		
				7	3	
				98		
				9		
			10	00		

Record of Change Orders

#	Date	Ar	mount
1	11/20/2017	\$	7,350.00
2			
3			
⁴ —			
5			
6			
7			
8			
9			
10			
11 —			
12			
13	SC SINCE INC. CO.		
14			
15			
16			
17			
18			
19			
20			
TO	TAL	\$	7,350.00

Contract Time Remaining:

CLICK TO CHOOSE
June 5, 2017
0
0

TOTAL

Please update Payment Application Sheet

86,302.56



December 8, 2017

Attn: Sarah Okerlund, P.E. City of Ankeny 220 West First Street Ankeny, Iowa 50023

RE:

Billing Information Report #4

SE East Lawn Area Utility Improvements – Phase 1 and SE Peterson / SE Trilein Storm Sewer Improvements

Ankeny, Iowa CDA 1706.333

Dear Sarah:

Enclosed, please find two (2) copies of billing information report #4 for the SE East Lawn Area Utility Improvements and SE Peterson / SE Trilein Storm Sewer Improvements project in Ankeny.

During this time, Civil Design Advantage addressed staff comments for both projects and completed subsurface locates of existing utilities for the SE Peterson / SE Trilein Storm Sewer Improvements.

Please contact me with any comments or questions.

Sincerely,

CIVIL DESIGN ADVANTAGE, LLC

Josh Trygstad, P.E. Project Manager

Enclosures

Invoice



Civil Design Advantage LLC 3405 SE Crossroads Drive Suite G Grimes, Iowa 50111 (515) 369-4400

City of Ankeny Mark Mueller 220 W 1st Street Ankeny, IA 50023 December 08, 2017

Project No:

1706.333

Invoice No:

23203

D	-:1
$-$ Pr ϵ	niect

1706.333

C. Ankeny-SE East Lawn Area Utility Impr

Professional Services from October 30, 2017 through December 03, 2017

Task

103

SE Trilein - Topo/Boundary Survey

Professional Personnel

Professional Pers	onnei				
		Hours	Rate	Amount	
Technician 2		2.00	60.00	120.00	
Technician 4		.50	76.00	38.00	
Technician 7		2.00	103.00	206.00	
	Totals	4.50		364.00	
	Total Labor				364.00
			Total	this Task	\$364.00
Task	203	Final Storm Water Management Plan		this Task	0.00
			Total	uns rask	0.00
Task	230	SE East Lawn - Cost Opinion	Total	this Task	0.00
	204	OF THE SOCIETY			
Task	231	SE Trilein - Cost Opinion	Total	this Task	0.00
Task	301	SE East Lawn Construction Drawings	S		
Professional Perse	onnel				
		Hours	Rate	Amount	
Engineer 2		9.50	86.00	817.00	
Engineer 6		21.00	125.00	2,625.00	
Technician 4		10.00	76.00	760.00	
	Totals	40.50		4,202.00	

Total Labor

4,202.00

Total this Task

\$4,202.00

Task

302

SE Trilein - Construction Drawings

Professional Personnel

	Hours	Rate	Amount
Engineer 2	10.50	86.00	903.00
Engineer 6	19.50	125.00	2,437.50
Totals	30.00		3,340.50

Total Labor

3,340.50

Total this Task

\$3,340.50

Task

308

SE East Lawn - Utility Coordination

Project 1	706.333	C. Ankeny-SE	East Lawn Area Utilit	y Impr	Invoice	23203
				Total thi	s Task	0.00
Task	309	SE Trilein - Utility	Coordination			
rusk	505	OL THIGHT OURLY	Coordination	Total thi	s Task	0.00
				i otai tili	- 1	0.00
Task	310	SE East Lawn - S	specifications			
Professional Pe	rsonnel					
H			Hours	Rate	Amount	
Engineer 2	Totals		6.50 6.50	86.00	559.00 559.00	
	Total Labor		0.50		000.00	559.00
				Total this	s Task	\$559.00
				, Jui III	3 6 W 348	,,,,,,,,,
Task	311	SE Trilein - Speci	fications			
Professional Pe	rsonnel	23				
			Hours	Rate	Amount	
Engineer 2	Totals		5.50 5.50	86.00	473.00 473.00	
	Total Labor		5.50		473.00	473.00
	C - Market 19070778707.			Total this	s Task	\$473.00
Task	312	SE East Lawn - C	construction Letting			
				Total this	s Task	0.00
Task	313	SE Trilein - Const	ruction Staking	agen og mile i grennen		
				Total this	s lask	0.00
Took	501	SE East Louis N	leighborhood Meeting	2		
Task	501	SE East Lawn - N	ieiAunouuooa meetiui	g Total this	s Task	0.00
				191 1/11		ಚಾರೆ ಕಾ.ಕು
Task	502	SE Trilein - Neigh	borhood Meeting			
3		_		Total this	s Task	0.00
Task	701	Subconsultant-Ac	cujet			
Consultants						
Sub-consulta 12/11/201			Potholing		6,250.00	
, 2, 1 1/20	Total Consu	Itants	a community		6,250.00	6,250.00
				Total this	s Task	\$6,250.00
						n & 3
Гаѕк	998	Permits & Fees				
Professional Pe	rsonnel					
-			Hours	Rate	Amount	
Engineer 4	Totals		2.50 2.50	106.00	265.00 265.00	
	Total Labor		2.50		200.00	265.00
				Total this	s Task	\$265.00
				, Juli alle		7
Гask	999	Reimbursable Exp	penses			
Jnit Billing						
11/30/2017	Mileage		42.0 mi	les @ 0.535	22.47	1240 OHO
	Total Units				22.47	22.47

Project	1706.333	C. Ankeny-SE East Lawn Area	Utility Impr	Invoice	23203
<u> </u>			Total th	nis Task	\$22.47
Billing Lim	iits	Current	Prior	To-Date	
Total E	Billings	15,475.97	86,302.56	101,778.53	
Lir	mit			116,666.00	
Re	emaining			14,887.47	
			Total this	Invoice	\$15,475.97

Project Manager

Joshua Trygstad